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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Ql. (a) GIhrhi i Y@ foRIvaT Famsy |
State the chief characteristics of Index Numbers.
(b) ST GETEE YEY W IR 1 AN 7 ? 39! faoiwand sarse |

What do you mean by Information Resource Management ? State its

features.

(0 Tova vl fafrmior 3 o1 sasT e @ ares i 9im =i gof 2 |

State the attributes of world class manufacturing which are aimed to

fulfil the customer demands.

d) HEE (EERR) e FH foRvad sas |
State the characteristics of Chi-Square Test.

(e) U HEUA! H Yoo fIveivur 7Ry & o A0 Famsy |

State the symptoms when the value analysis is to be initiated in a

company.
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Q2. (a) Ti=feifaa arferem = wiicrl § Scurer 3t i wwarel & Frepct groqut @ <6t
qefig 9@ et | 5% qrdehdl T W qiieer Hifu fm w=n gearg 3 ureht
=ad 3 |
CUREIR

areh o R | fedE g | qdiE awre R
oy 20 20 20 60
T 5 10 15 30
= 15 20 25 60
I 40 50 60 150

The following table gives the production in three shifts and the
corresponding number of defective goods that turned out in three weeks.
Test at 5% level of significance whether weeks and shifts are

independent. 15
Table :
Shift 15t week 2nd week 3rd week Total
I 20 20 20 60
II 5 10 15 30
III 15 20 25 60
Total 40 50 60 150
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CRITICAL VALUES OF CHI-SQUARE (x2)

f(x2)
Uit
g > X
| 0100 0.050 0.025 0.010 0.005 0.001
i i 271 3.84 5.02 6.63 7.88 10.8
2 461 5.99 7.38 9.21 10.6 13.8
3 6.25 7.81 9.35 TE:S 12.8 16.3
4 7.78 949 11.1 13.3 14.9 18.5
5 9.24 1.1 12.8 15.1 16.7 20.5
6 10.6 12.6 14.4 16.8 185 225
7 12.0 14.1 16.0 18.5 20.3 24.3
8 13.4 15:5 17.5 20.1 22.0 26.1
9 14.7 16.9 19.0 .7 23.6 27.9
10 16.0 18.3 20.5 23.2 25.2 29.6
11 373 19.7 21.9 24.7 26.8 313
12 18.5 21.0 233 26.2 28.3 32.9
- 13 19.8 22.4 24.7 21.7 29.8 34.5
14 21.1 23.7 26.1 29.1 31.3 36.1
15 922.3 95.0 27.5 30.6 32.8 37.7
16 23.5 26.3 28.8 32.0 34.3 39.3
17 24.8 27.6 30.2 33.4 35.7 40.8
18 26.0 28.9 315 34.8 37.2 42.3
19 272 30.1 32.9 36.2 38.6 43.8
20 28.4 314 34.2 37.6 40.0 45.3
21 29.6 327 35.5 38.9 41.4 46.8
22 30.8 33.9 36.8 40.3 42.8 48.3
23 32.0 35.2 38.1 41.6 44 .2 49.7
24 33.2 36.4 39.4 43.0 456 51.2
25 34.4 37.7 40.6 443 46.9 52.6
26 35.6 38.9 41.9 45.6 48.3 54.1
27 36.7 40.1 43.2 47.0 49.6 55.5
28 37.9 413 445 483 51.0 56.9
29 39.1 42,6 45.7 49.6 52.3 58.3
30 403 438 47.0 50.9 53.7 59.7
35 46.1 49.8 53.2 57.3 60.3 66.6
40 51.8 55.8 59.3 63.7 66.8 73.4
45 57.5 61.7 65.4 70.0 73.2 80.1
50 63.2 67.5 714 76.2 79.5 86.7
55 68.8 783 77.4 82.3 85.7 93.2
60 74.4 79.1 83.3 88.4 92.0 99.6
65 80.0 84.8 89.2 94 .4 98.1 106.0
70 85.5 90.5 95.0 100.4 104.0 112.3
75 91.1 96.2 100.8 106.4 110.3 118.6
80 96.6 101.9 106.6 1123 116.3 124.8
85 102.1 107.5 112.4 118.2 1223 3131.0
90 107.6 1131 118.1 124.1 128.3 1372
95 113.0 118.8 123.9 130.0 134.2 143.3
100 118.5 124.3 129.6 135.8 140.2 149.4
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(b) 10 ST I 1 T Ao A1 FrA IR (Freim) & IER 2 -

5% deieht T T wherer Hifse i @ sieaq 3 wr 50 foramm forn s
Thal 8
A random sample of 10 bags of urea are found to have the following

40, 45, 49, 50, 55, 44, 52, 48, 50, 45

weights (kg) :
40, 45, 49, 50, 55, 44, 52, 48, 50, 45

Test at 5% level of significance whether the average packing weight can

be taken as 50 kg.
t-DISTRIBUTION
Values of t;
. * 0.05 0.025 0.01 0.005
1 6.314 12.706 31.821 63.657
2 2.920 4.303 6.965 9.925
3 2.353 3.182 4.541 5.841
4 2.132 2.776 3.747 4.604
5 2.015 2.571 3.365 4.032
6 1.943 2.447 3.143 3.707
7 1.895 2.365 2.998 3.499
8 1.860 2.306 2.896 3.355
9 1.833 2.262 2.821 3.250
10 1.812 2.228 2.764 3.169
11 1.796 2.201 2.718 3.106
12 1.782 2.179 2.681 3.055
13 1771 2.160 2.650 3.012
14 1.761 2.145 2.624 2.977
15 1.753 2.131 2.602 2.947
16 1.746 2.120 2.583 2.921
17 1.740 2.110 2.567 2.898
18 1.734 2.101 2.552 2.878
19 1.729 2.093 2.539 2.861
20 1.725 2.086 2.528 2.845
21 17921 2.080 2.518 2.831
22 1.717 2.074 2.508 2.819
23 1.714 2.069 2.500 2.807
24 1.711 2.064 2.492 2.797
25 1.708 2.060 2.485 2.787
26 1.706 2.056 2.479 2.779
27 1.703 2.052 2.473 2.771
28 1.701 2.048 2.467 2.763
29 1.699 2.045 2.462 2.756
30 1.697 2.042 2.457 2.750
40 1.684 2.021 2.423 2.704
60 1.671 2.000 2.390 2.660
120 1.658 1.980 2.358 2.617
oo 1.645 1.960 2.326 2.576
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(¢) TUh B fiF IUE A, § U ¥ HT 3416 Hid! 8, 9 fop &= fawmi . fafem,
Y TF TS B ORI ¢ |

3cUTE 3 I TAh TS bl SHAT: 8, 4 Td 2 Tt <hi o fawmii & Srrarvaehar 2 |
IcATE & I TS 3HIS Dl HUN: 2, 3T 0 el i fiF fawrmi ° smravarshar 2 |
3cUTE | Sl TAh I hl A 3, 0 TG 1 921 <l o1 faumm & STavehar 2 |
TeiHl W Iqerey &ar, S T arSeqe # Wifta = R, Frtad ? |

aTfereht - IcdTed =g WA N &wHal

T3 T TR 9Ty T
(wefi =2 ufe awag)

Tt oefa 250

ER NI 150

TS WA 50

3T 31, § Ud § o foIu gfer 1S o1 SHAST: T 20, T 69T T 8B |

() W & AR ° gEeEg (glae) Hifm )

(i)  SAfehan &9 I A & 9T, BH Hl Td IqE i foha1 Icqred
T AT 2

A firm produces three products A, B and C which pass through three

departments : Milling, Lathe and Grinder.

Each unit of Product A requires 8, 4 and 2 hours respectively in the

three departments.

Each unit of Product B requires 2, 3 and 0 hours respectively in the

three departments.

Each unit of Product C requires 3, 0 and 1 hours respectively in the

three departments.

The available capacity on the machines which might limit output is

given below.

Table : Capacity of the Machines for Production

Machine Type Available time
(in machine hours per week)
Milling Machine 250
Lathe Machine 150
Grinder Machine 50
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The unit profit would be : ¥ 20, ¥ 6 and ¥ 8 for products A, B and C
respectively.

6] Formulate the problem in LPP.

(i) How much of each product should the firm produce in order to
maximize profit ? 8+12=20

Q3. (a) OB (=) Yeua & fafim @&y sy |

State the different forms of waste management. 16
(b) T TIH HI YNIId HH 91 afi= g2 sarsy |
State the various factors affecting plant location. 15

(¢) Tk MR o A9 Afafes & 1 Sqam sea Fmior & & gt 2,
St o5 arvft et = 500 ufd @ sha @ R | I ot sem s R, @1 3E
T wEl A T 100 NG $HE, w9eh @U@ T 130 WA 3 w6 wRed
IufeT ArTa T 30 Ufd 3RS AT B |
I TS AT S TR AT § TEEfUd 8 T 2,50,000 ® | 3T A hi
SiFg Y AT [T 5000 3T B |

() o s ®1 A e S & T ange e 2

(i) WH ST gwar 3 TawmT gRI $iY TRl & Ieared TSR BRf S
5 et w dfedis ama w s (AfEfta) s @t awm
¥ 1,00,000 AN § IREH HON | vwE & Fmior sterEn HY i >
Fmior & - Fmio afies T 2 2

An automobile company has additional capacity that can be used to
manufacture brakes that the company is presently buying for ¥ 500
each. If the company makes the brakes, it will incur materials cost of
T 100 per unit, labour cost of T 130 per unit and variable overhead cost
of T 30 per unit.

The annual fixed cost associated with the unused capacity is ¥ 2,50,000.
Demand over the next year is estimated to be 5000 units of brakes.

@) Would it be profitable for the company to manufacture the brakes ?

(ii)) Suppose the capacity could be used by another department for
production of some agricultural equipment that would cover its
fixed and variable cost and contribute ¥ 1,00,000 to profit. Which
would be more advantageous, brakes production or agricultural
equipment production ? 1248=20
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Q4. (a ()
(ii)
(iii)
(6))
(ii)
(iii)

®) @)
(i)
(iii)
(1)
(1)
(iii)
) @)
(i1)
(iii)
(1)
(ii)

(iii)

SKYC-B-MGMT

39T = iy i |
3IGE % oY Faisy |
3-7Ta- g (3ferefesd) % R ¥ sarRy |

Define e-Governance.
State the advantages of e-Governance.
State the e-Governance initiatives. 5+5+5=15

¥i.ud.wE. ! uRrfya i |

eg.wm. i e faemand sarsu |

.TH.E. & 799 Fary |

Define DSS.

State the main characteristics of DSS.

State the components of DSS. 5+5+5=15
3.9TR.H. i gitia Fif |

fafts wevr it g onfernt i ==t Hifvr |

Tarest soeft Rt afeiya i qen 3uehl I foRivaTd sarse |

Define ERP.

Discuss the various types of Information Systems.
Define Expert System. State its common characteristics. 6+7+7=20



Q5.

(a)

(b)

(e

(d)

(e)

w©vs B
SECTION B

Tt IuHA (F.u.g,) % Pl &1 9ra & e o ® ged o
JuTe 1 wWiEo Hife |

Examine the impact of privatisation of PSUs on the economic
development of India.

“Teh 291 TE e # IRt w1 B, Ife ddfera & faemE @1 17 39 FE W
feogoft HifTe qen 38 Te § wra TR < TdaE ifaat w1 v Hif |

“A country can truly progress, if there is balanced regional
development.” Comment on the statement and examine the present
Government of India’s policies in this regard.

F qaa™ UREeH T A JEe Yo W Wi 3afd 99 {6
Fhm giguen (nféfefreme Rfeia) w sdi®-=m & T9Eil 1 AT
v Hifvte | sfeggiors oW T F@ F e S 7 Senfifeal w5
AN HY 33T Tehdl B ?

Critically analyse the impact of technological advancements such as
Artificial Intelligence and Block-Chain on International Business
Operations and Supply Chain Management. How can companies
leverage these technologies to gain a competitive advantage ?

At saauE IREeH g SH 1 TS fodia seaEi (371, 1.
wd fava §%) 6y @ e Hif | s fem w e @ §
TTeh] TSI 1 3TTheld ShifaTT |

Analyse the role of international financial institutions (IMF and World
Bank) in facilitating global business operations. Assess their
effectiveness in promoting economic development.

“Ca W &, SR JEgH Bl B | fam srieem %, wHifa fsea
A ® 17 3@ $oA R Roeft Fifsw v wrifa % sRfeaa § I areft SRl
1 G HA & Y T == HIRAC |

“Without a strategy, execution is aimless. Without execution, strategy is
useless.” Comment on the statement and discuss the ways to overcome
the pitfalls in strategy implementation.
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Q6. (a) @)

(i)

@)

(i1)

b @

(i)

@)

(i)

© @

(i)

@)

(i)

SKYC-B-MGMT

“Trcers mvea i it detferd w6 6t 2 7 f6 Tsr g F@ H 17
HI W oot Shifse wa e o Fifi sem (iaie i) %
el i AR IR |

et foaor yomet (f.€hwm. ), @ gean i I 3 | qun e

3qeH # Tohd TR FgH Kt R 2 Areetes faawor yuneft % @t H
ot ==t Hife |

“The role of Board of Directors is to govern and not to manage.”
Comment on the statement and bring out the elements of
Corporate Governance by citing examples.

How does the Public Distribution System (PDS) contribute to
guaranteeing food security and eradicating poverty ? Also, discuss
the goals of PDS.

I9ARET T At % Tifica @el (FTHl) i AeETeRS g
Hif | e gegatt it fasht & fore fmfar v fassar =1 fmier ssm
T faftres gfe qen SUMhT 1 Suetsy 3T < ==t hifv |

= Maifiee Hifd & 3 @S (F@ren) w1 favemw e st %
TafeRofE R Ud R S9fE B WE 39 ¥ | SqeEE Wl gt
ITFHA I AN % oI Nemfza w0 g Y& fohu 70 wEfwai
==t Hifsw |

Critically examine the liability clauses of the Consumer
Protection Act. Discuss the legal framework for holding producers
and sellers liable for faulty goods and the remedies available to
consumers.

Analyse the New Industrial Policy clauses that support

environmental preservation and sustainable growth. Discuss the
programmes launched to encourage a business to adopt
environment friendly practices.

e g & faftes ugqgen (wRwem) w1 i hifse | el g
TS L& Ut foharaeH & fafre gifieat i ==t Hifvw

I8, B AT TEUSET HEAFRT % G T Al Sfafian % sTeres o
Y JAFT ! TcdTied HE qTefl WRa THR hl gdam Hfen w1 wheo
HIfT |

Examine the legal aspects of cyber security. Discuss the legal
obligations of organisations in implementing cyber security
measures.

Examine the present policies of the Government of India for
promoting Small-Scale Industries in the light of upcoming
competition from large, domestic and multinational companies.
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Q7. (a) ()

(i1)

@)

(1)

b @

(ii)

@)

(i)

© @

(i1)

SKYC-B-MGMT

FtET fFE YHR AE H T Al 8 I ITIA BT GAHGR0
FA 3R WA s 1 3gehT faveiwur S et 8 2 JUssT |

o el & 98 9 2@ & T @I % 991 ITH I A i
qe ¥ foreft Tu areR w3 o e @ siftmer & wE @ wEw
AT SEA B bl 8 ?

How do companies scan the environment and analyse the same to
reset the objectives and formulate strategies ? Explain.

Under what considerations might it be preferable to enter into a
new market or a new industry through Mergers and Acquisitions
(M&A) route over starting a new venture of its own for the
purpose ?

“Uet gaand, waq Sfeeagicnss @ fi AR IwERG Hd € 17 St
Iqren wfgd fewauft hifse |

“Geg-s@en foveryor wfoeqaiors @ 1 gRaa w6 d gerdr H
217 F1 AW GEAd § ? TR SEUST 1 YoI-gEen § faee %
foreeiwor & e == R |

“Core competencies lead to sustainable competitive advantage.”
Comment and give suitable examples.

“Value-Chain Analysis helps in creating competitive advantage.”
Do you agree ? Justify and discuss the importance of analysing
linkages in value-chain.

fra yeR fe sraarond wiHifaes Jeeu 1 quEe | gERd Sl 8 ?
3fa el |fga == Hf | ‘

A) THifd T (322)

B) Te=mE (W=) &t s@gnn

(C) o 3I8M (effe’sr) hi ragren

(D) 39gh (The) i sr@uron

“FH AR Aqed HI IOTH Ted I (EH IR) & Fehar 7 |7 feouoft
SHifSre o gl wfga ==t HI 76w wot HfRE SHR Th
s (Sues) am= wHif 6t g9 =T |
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@)

i)

Q. (& @)
)

@)

i)

® G

(i1)

@)

(i)

SKYC-B-MGMT

Discuss the manner in which the following concepts aid the
understanding of Strategic Management. Give suitable examples.
(A) Strategic Intent
(B) Concept of Stretch
(C) Concept of Leverage
(D) Concept of Fit

“Low cost leadership may result in price war situations.”
Comment and discuss with suitable examples as to how a
company should opt for a particular generic strategy.

“qra & Wfdge AR TgeA (S99 A6 de) § & e wmam
T 37gq Yt T Tehar 8 |7 oot fifsw |

T6.8.U. & 9ftie § fyare guam 9 i yftes 1 W Hifse | 78
1 fFe YR @ THUa e s IR gsial Y STes it @ 2
aaH faare guam ge # wH-E genfya gRfeat @ gewfaa gun
8?

“Regional Economic Cooperation can play an important role in
India’s unfavourable Balance of Trade.” Comment.

Examine the role of dispute settlement mechanisms in FTAs. How
do these mechanisms resolve conflicts and enforce trade
agreements ? What are the possible challenges and possible
improvements in the existing dispute settlement frameworks ?

fhn yr e aEE AT, SRR, TEUNE T TRUSE
(grEmea) @ fir 2 2 39 Il |fea forar @ wase |

FgUSE FHFafi w1 i faftes we Afoss ot o soam o gE |
REed ®E B A A arelt Afas gfaat 1 ahew fifse
IR FauE # Afow g wd i wem (Fiake ToHE) *
g W ==l hife |

How is Global business strategy different from International,
Multinational and Transnational ? Elaborate with suitable
examples.

Examine the ethical challenges faced by multinational
corporations in operating in countries with different legal and
ethical standards. Discuss the importance of ethical leadership
and corporate governance in international business.
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© @

(i1)
(1)

(ii)
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ara o fafis aifisa wd Seim el (e ATe wimd) 6t gHERiiedr
&1 qiegur HIT |

R e @ sfurw # yefa w9 9l I (FEE) g9
# ==t HT | g6d @ FEHa dWIR e vd siftmEe | w®n
Teh firerd 8 2

Examine the effectiveness of different Chambers of Commerce
and Industry in India.

Discuss the best practices for managing cross-border mergers and
acquisitions. What are the lessons learned from successful and
unsuccessful cross-border mergers and acquisitions ?
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